
rugged
STEERING AND SUSPENSION

www.ruggedsteering&suspension.com.au



•	 Entensive test procedure throughout production.
•	 Endurance testing of every new part number to 4 million cycles.
•	 Batch test of all new material.
•	 Batch test of piston rods for hardness after chrome plating.
•	 Batch test of piston rods for smoothness.
•	 Batch test of piston rods under microscope for cracking.
•	 High low temperature test -40°C to 130 °C.
•	 Individual damping test.

BUILT TOUGH!

•	 Twin Tube construction.
•	 Nitrogen gas charged.
•	 2WD shock absorbers and struts have a 30mm piston diameter and 

12.5mm piston rod diameter.
•	 4WD shock absorbers and struts have a 36mm piston diameter and 53mm 

body diameter.
•	 4WD shock absorbers have a 15mm piston rod diameter.
•	 4WD struts have an 18mm piston rod diameter.
•	 0.125mm chrome plate thickness on all piston rods.
•	 NOK  brand twin lip oil seals.



2

MAKE/MODEL DESCRIPTION PART No#
Ext
Length
± 3mm

Comp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

FORD

COURIER UTE PC 6/85 - 4/96, 2/4WD FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

COURIER UTE PC 6/85 - 4/96, 4WD REAR SHOCK ABSORBER MBB-70020 609 376 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 12mm id 40mm w 36 15

COURIER UTE PC 6/85 - 4/96, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

COURIER UTE PD 5/96 - 12/98, 2/4WD FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

COURIER UTE PD 5/96 - 12/98, 4WD REAR SHOCK ABSORBER MBB-70020 609 376 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 12mm id 40mm w 36 15

COURIER UTE PD 5/96 - 12/98, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

COURIER UTE PE 1/99 - 10/02, 2/4WD FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

COURIER UTE PE 1/99 - 10/02, 4WD REAR SHOCK ABSORBER MBB-70020 609 376 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 12mm id 40mm w 36 15

COURIER UTE PE 1/99 - 10/02, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

COURIER UTE PG/PH 11/02 - 10/06, 2/4WD FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

COURIER UTE PG/PH 11/02 - 10/06, 4WD REAR SHOCK ABSORBER MBT-70020 630 382 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 12mm id 40mm w 36 15

COURIER UTE PG/PH 11/02 - 10/06, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

ECONOVAN/MAXIVAN/SPECTRON/CAB CHASIS 
5/84-8/99, SUITS ALL

FRONT SHOCK ABSORBER MEA-71010 391 251 10.5mm stud T bar bushed mount 30 12.5

ECONOVAN/MAXIVAN/SPECTRON/CAB CHASIS 

5/84-8/99 WITH DUAL REAR WHEELS
REAR SHOCK ABSORBER TL-70010 483 307 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

ECONOVAN/MAXIVAN/SPECTRON/CAB CHASIS 
5/84-8/99 WITH SINGLE REAR WHEELS
(LIGHT DUTY)

REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

ECONOVAN/MAXIVAN/SPECTRON/CAB CHASIS 
5/84-8/99 WITH SINGLE REAR WHEELS,
1400 1/84-90 WITH DUAL REAR WHEELS (HEAVY 
DUTY)

REAR SHOCK ABSORBER MEA-70021 568 350 Bush eye 16mm id Bush eye 16mm id 36 15

RANGER UTE PJ 12/06 - 3/09, 2/4WD FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

RANGER UTE PJ 12/06 - 3/09, 2WD 2.5L REAR SHOCK ABSORBER MBT-70021 545 344 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 16mm id 48mm w 36 15

RANGER UTE PJ 12/06 - 3/09, 2/4WD 3.0L REAR SHOCK ABSORBER MBT-70020 630 382 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 12mm id 40mm w 36 15

RANGER UTE PK 4/09 - 9/11, 2/4WD FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

RANGER UTE PK 4/09 - 9/11, 2WD 2.5L REAR SHOCK ABSORBER MBT-70021 545 344 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 16mm id 48mm w 36 15

RANGER UTE PK 4/09 - 9/11, 2/4WD 3.0L REAR SHOCK ABSORBER MBT-70020 630 382 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 12mm id 40mm w 36 15

FORD



3

MAKE/MODEL DESCRIPTION PART NUMBER
Ext
Length
± 3mm

Comp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

HOLDEN

COLORADO 2/4Dr UTILITY 6/08 -3/12, 4WD FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

COLORADO 2/4Dr UTILITY 6/08 -3/12, 4WD REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

FRONTERA 2Dr 10/95 - 12/98 FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

FRONTERA 2Dr 10/95 - 12/98 REAR SHOCK ABSORBER GJC-70020 540 349 Bush eye w/sleeve 14mm id 40mm w Bush eye w/sleeve 19mm id 44.5mm w 36 15

ISUZU D-MAX 2/4DR UTE/CAB CHASSIS 6/08-, 4WD 
(SHORTER EXTENSION)

FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

ISUZU D-MAX 2/4DR UTE/CAB CHASSIS 6/08-, 4WD 
(LONGER EXTENSION)

FRONT SHOCK ABSORBER GIB-70010 429 261 11mm stud Bush eye 12mm id 32mm w 36 15

ISUZU D-MAX 2/4DR UTE/CAB CHASSIS 6/08-, 4WD REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

JACKAROO UBS I / II WAGON 5/92 - 1/98 FRONT SHOCK ABSORBER GIB-70010 429 261 11mm stud Bush eye 12mm id 32mm w 36 15

JACKAROO UBS I / II WAGON 5/92 - 1/98 REAR SHOCK ABSORBER GJC-70020 540 349 Bush eye w/sleeve 14mm id 40mm w Bush eye w/sleeve 19mm id 44.5mm w 36 15

JACKAROO UBS III WAGON 2/98 - 12/03 FRONT SHOCK ABSORBER GIB-70010 429 261 11mm stud Bush eye 12mm id 32mm w 36 15

JACKAROO UBS III WAGON 2/98 - 12/03 REAR SHOCK ABSORBER GJC-70020 540 349 Bush eye w/sleeve 14mm id 40mm w Bush eye w/sleeve 19mm id 44.5mm w 36 15

RODEO TF G3/G6 SERIES UTE 7/88 - 12/97, 2WD FRONT SHOCK ABSORBER NNA-71010 337 251 10mm stud Bush eye w/sleev 12mm id 32mm wide 30 12.5

RODEO TF G3/G6 SERIES UTE 7/88 - 12/97, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

RODEO TF G3/G6 SERIES UTE 7/88 - 12/97, 4WD FRONT SHOCK ABSORBER GIB-70010 429 261 11mm stud Bush eye 12mm id 32mm w 36 15

RODEO TF G3/G6 SERIES UTE 7/88 - 12/97, 4WD REAR SHOCK ABSORBER NNA-70020 586 #N/A Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

RODEO TF R7 SERIES UTE 11/96-11/02, 2WD FRONT SHOCK ABSORBER NNA-71010 337 251 10mm stud Bush eye w/sleev 12mm id 32mm wide 30 12.5

RODEO TF R7 SERIES UTE 11/96-11/02, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

RODEO TF R7 SERIES UTE 11/96-11/02, 4WD FRONT SHOCK ABSORBER GIB-70010 429 261 11mm stud Bush eye 12mm id 32mm w 36 15

RODEO TF R7 SERIES UTE 11/96-11/02, 4WD REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

RODEO RA UTE 3/03-6/08, 4WD (SHORTER EXTENSION) FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

RODEO RA UTE 3/03-6/08, 4WD (LONGER EXTENSION) FRONT SHOCK ABSORBER GIB-70010 429 261 11mm stud Bush eye 12mm id 32mm w 36 15

RODEO RA UTE 3/03-6/08, 4WD REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

HOLDEN



4

MAKE/MODEL DESCRIPTION PART No#
Ext
Length
± 3mm

Comp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

MAZDA

B SERIES UTE UF B2000 / B2200 / B2600
6/85 - 3/96, 2/4WD

FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

B SERIES UTE UF B2000 / B2200 / B2600
6/85 - 3/96, 2WD

REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

B SERIES UTE UF B2000 / B2200 / B2600
6/85 - 3/96, 4WD

REAR SHOCK ABSORBER MBB-70020 609 376 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 12mm id 40mm w 36 15

B SERIES UTE UF B25/B2600 4/96 - 12/98, 2/4WD FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

B SERIES UTE UF B25/B2600 4/96 - 12/98, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

B SERIES UTE UF B25/B2600 4/96 - 12/98, 4WD REAR SHOCK ABSORBER MBB-70020 609 376 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 12mm id 40mm w 36 15

B SERIES UTE UN B25/2600 1/99 - 10/02, 2/4WD FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

B SERIES UTE UN B25/B2600 1/99 - 10/02, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

B SERIES UTE UN B25/B2600 1/99 - 10/02, 4WD REAR SHOCK ABSORBER MBB-70020 609 376 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 12mm id 40mm w 36 15

B SERIES UTE UN B25/B2600/B4000
10/02-10/06, 2/4WD

FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

B SERIES UTE UN B25/B2600/B4000
10/02-10/06, 2WD

REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

B SERIES UTE UN B2500 / B2600 / B4000
10/02-10/06, 4WD

REAR SHOCK ABSORBER MBT-70020 630 382 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 12mm id 40mm w 36 15

BT-50 UTE / CREW CAB (DUAL CAB) /
FREESTYLE (XTRA CAB)  11/06  -  10/11, 4WD

FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

BT-50 UTE / CREW CAB (DUAL CAB) / FREESTYLE 
(XTRA CAB)  11/06  -  10/11, 2WD 2.5L

REAR SHOCK ABSORBER MBT-70021 545 344 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 16mm id 48mm w 36 15

BT-50 UTE / CREW CAB (DUAL CAB) / FREESTYLE 
(XTRA CAB)  11/06  -  10/11, 2/4WD 3.0L

REAR SHOCK ABSORBER MBT-70020 630 382 Bush eye w/sleeve 20mm id 43mm w Bush eye w/sleeve 12mm id 40mm w 36 15

E SERIES VAN 1/84 - 7/99, SUITS ALL FRONT SHOCK ABSORBER MEA-71010 391 251 10.5mm stud T bar bushed mount 30 12.5

E SERIES VAN E1800/E2000/E2200 1/84 - 7/99 
WITH DUAL REAR WHEELS

REAR SHOCK ABSORBER TL-70010 483 307 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

E SERIES VAN 1/84 - 7/99 WITH SINGLE REAR 
WHEELS (LIGHT DUTY)

REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

E SERIES VAN E1800/E2000/E2200 1/84 - 7/99 
WITH SINGLE REAR WHEELS, E1400 1/84-10/97 
WITH DUAL REAR WHEELS (HEAVY DUTY)

REAR SHOCK ABSORBER MEA-70021 568 251 Bush eye 16mm id Bush eye 16mm id 36 15

WE T SERIES 84 - 89 REAR SHOCK ABSORBER TL-70010 483 307 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

WG T SERIES 89 - REAR SHOCK ABSORBER TL-70010 483 307 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

MAZDA



5

MAKE/MODEL DESCRIPTION PART No#
Ext
Length
± 3mm

Comp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

MITSUBISHI

CANTER FE 1##/2## 79 - 85 REAR SHOCK ABSORBER TL-70010 483 307 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

CANTER FE 3##/4## 86 - 95 REAR SHOCK ABSORBER TL-70010 483 307 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

CHALLENGER PA I WAGON 12/97 - 5/00 FRONT SHOCK ABSORBER NNA-70010 351 235 10mm stud Bush eye w/sleeve 12mm id 32mm w 36 15

CHALLENGER PA II WAGON 6/00 - 1/06 FRONT SHOCK ABSORBER NNA-70010 351 235 10mm stud Bush eye w/sleeve 12mm id 32mm w 36 15

EXPRESS VAN L300 & STARWAGON SF /SG / SH / SJ 
10/86 -, 2WD (LIGHT DUTY)

FRONT SHOCK ABSORBER THC-71010 379 251 10mm stud Bush eye w/sleeve12mm id 32mm wide 25 12.5

EXPRESS VAN L300 & STARWAGON SF /SG / SH / SJ 
10/86 -, 2WD (HEAVY DUTY)

FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

EXPRESS VAN L300 & STARWAGON SF /SG / SH / SJ 
10/86 -, 2WD

REAR SHOCK ABSORBER CEB-71021 534 331 Bush eye w/sleeve 16mm id 37mm w Bush eye w/sleeve 16mm id 37mm w 30 12.5

EXPRESS VAN L300 & STARWAGON SF /SG / SH / SJ 
10/86 -, 4WD (LIGHT DUTY)

FRONT SHOCK ABSORBER CTC-71010 355 237 10mm stud T bar bushed mount 30 12.5

EXPRESS VAN L300 & STARWAGON SF /SG / SH / SJ 
10/86 -, 4WD (HEAVY DUTY)

FRONT SHOCK ABSORBER CPA-70010 345 230 10mm stud T bar bushed mount 36 15

EXPRESS VAN L300 & STARWAGON SF /SG / SH / SJ 
10/86 -, 4WD

REAR SHOCK ABSORBER CEB-71020 491 306 Bush eye w/sleeve 12mm id 32mm w 10mm stud 30 12.5

PAJERO WAGON NA/ NB/ NC/ ND/ NE/ NF/ NG
1/83 - 4/91 WITH REAR COIL OR LEAF SPRINGS

FRONT SHOCK ABSORBER CPA-70010 345 230 10mm stud T bar bushed mount 36 15

PAJERO WAGON NA/ NB/ NC/ ND/ NE/ NF/ NG
1/83 - 4/91 WITH REAR COIL SPRINGS

REAR SHOCK ABSORBER CPA-70020 525 328 Bush eye 16mm id 37mm w Bush eye w/sleeve 16mm id 35mm w 36 15

PAJERO WAGON NA/ NB/ NC/ ND/ NE/ NF/ NG
1/83 - 4/91 WITH REAR LEAF SPRINGS

REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

PAJERO WAGON NA/ NB/ NC/ ND/ NE/ NF/ NG
1/83 - 4/91 WITH MANUAL STEERING

STEERING DAMPER CPB-73010 609 251

PAJERO WAGON NH / NJ / NK 5/91 - 8/97 FRONT SHOCK ABSORBER NNA-70010 351 235 10mm stud Bush eye w/sleeve 12mm id 32mm w 36 15

MITSUBISHI



6

MAKE/MODEL DESCRIPTION PART No#
Ext
Length
± 3mm

Comp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

MITSUBISHI

PAJERO WAGON NH / NJ / NK 5/91 - 8/97
WITH REAR LEAF SPRINGS

REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

PAJERO WAGON NH / NJ / NK 5/91 - 8/97
WITH REAR COIL SPRINGS

REAR SHOCK ABSORBER CPB-70021 495 312 10mm stud Bush eye w/sleeve 16mm id 38mm w 36 15

PAJERO WAGON NH / NJ / NK 5/91 - 8/9
 WITH MANUAL STEERING

STEERING DAMPER CPB-73010 609 251

PAJERO WAGON NL 9/97 - 4/00 FRONT SHOCK ABSORBER NNA-70010 351 235 10mm stud Bush eye w/sleeve 12mm id 32mm w

PAJERO WAGON NL 9/97 - 4/00
WITH REAR LEAF SPRINGS

REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

PAJERO WAGON NL 9/97 - 4/00
WITH REAR COIL SPRINGS

REAR SHOCK ABSORBER CPB-70021 495 312 10mm stud Bush eye w/sleeve 16mm id 38mm w 36 15

PAJERO WAGON NL 9/97 - 4/00
WITH MANUAL STEERING

STEERING DAMPER CPB-73010 609 251

PAJERO WAGON NM 5/00 - 10/02 FRONT STRUT CPF-72010 470 325 10mm stud Bush eye w/sleeve 14mm id 50mm w 36 18

PAJERO WAGON NM 5/00 - 10/02 REAR SHOCK ABSORBER CPF-70020 575 351 10mm stud Bush eye w/sleeve 14mm id 48mm w 36 15

PAJERO WAGON NP 11/02 - 6/06 FRONT STRUT CPF-72010 470 325 10mm stud Bush eye w/sleeve 14mm id 50mm w 36 18

PAJERO WAGON NP 11/02 - 6/06 REAR SHOCK ABSORBER CPF-70020 575 351 10mm stud Bush eye w/sleeve 14mm id 48mm w 36 15

PAJERO WAGON NS / NT 4Dr 7/06 - & 2Dr 11/06 - FRONT STRUT CPF-72010 470 325 10mm stud Bush eye w/sleeve 14mm id 50mm w 36 18

PAJERO WAGON NS / NT 4Dr 7/06 - & 2Dr 11/06 - REAR SHOCK ABSORBER CPF-70020 575 351 10mm stud Bush eye w/sleeve 14mm id 48mm w 36 15

TRITON UTE ME / MF / MG / MH / MJ
10/86 - 9/96, 2WD

FRONT SHOCK ABSORBER CTC-71010 355 237 10mm stud T bar bushed mount 30 12.5

TRITON UTE ME / MF / MG / MH / MJ
10/86 - 9/96, 4WD

FRONT SHOCK ABSORBER CPA-70010 345 230 10mm stud T bar bushed mount 36 15

MITSUBISHI



7

MAKE/MODEL DESCRIPTION PART No#
Ext
Length
± 3mm

Comp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

MITSUBISHI

TRITON UTE ME / MF / MG / MH / MJ
10/86 - 9/96, 4WD

REAR SHOCK ABSORBER CTC-70020 618 376 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

TRITON UTE ME / MF / MG / MH / MJ
10/86 - 9/96 WITH MANUAL STEERING, 4WD

STEERING DAMPER CPB-73010 609 251

TRITON UTE MK 10/96 - 6/06, 2WD FRONT SHOCK ABSORBER CTC-71010 355 237 10mm stud T bar bushed mount 30 12.5

TRITON UTE MK 10/96 - 6/06, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

TRITON UTE MK 10/96 - 6/06, 4WD FRONT SHOCK ABSORBER NNA-70010 351 235 10mm stud Bush eye w/sleeve 12mm id 32mm w 36 15

TRITON UTE MK 10/96 - 6/06, 4WD REAR SHOCK ABSORBER CTC-70020 618 376 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

TRITON UTE MK 10/96 - 6/06
WITH MANUAL STEERING, 4WD

STEERING DAMPER CPB-73010 609 251

TRITON DUAL CAB/UTE  ML/MN 7/06 -, 4WD FRONT STRUT CTD-72010 424 306 10mm stud Bush eye w/sleeve 14.5mm id 50mm w 36 18

TRITON DUAL CAB/UTE  ML/MN 7/06 -, 4WD REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

MITSUBISHI



8

MAKE/MODEL DESCRIPTION PART No#
Ext
Length
± 3mm

Cwomp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

NISSAN

NAVARA D21 UTE 1/86 - 5/92, 2WD FRONT SHOCK ABSORBER NNA-71010 337 251 10mm stud Bush eye w/sleev 12mm id 32mm wide 30 12.5

NAVARA D21 KINGCAB UTE 1/86 - 5/92, 2WD FRONT SHOCK ABSORBER NNA-71010 337 251 10mm stud Bush eye w/sleev 12mm id 32mm wide 30 12.5

NAVARA D21 UTE 1/86 - 5/92, 4WD FRONT SHOCK ABSORBER NNA-70010 351 235 10mm stud Bush eye w/sleeve 12mm id 32mm w 36 15

NAVARA D21 KINGCAB UTE 1/86 - 5/92, 4WD FRONT SHOCK ABSORBER NNA-70010 351 235 10mm stud Bush eye w/sleeve 12mm id 32mm w 36 15

NAVARA D21 UTE 1/86 - 5/92, 4WD REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

NAVARA D21 UTE 3/92 - 2/97, 2WD FRONT SHOCK ABSORBER NNA-71010 337 251 10mm stud Bush eye w/sleev 12mm id 32mm wide

NAVARA D21 UTE 3/92 - 2/97, 4WD FRONT SHOCK ABSORBER NNA-70010 351 235 10mm stud Bush eye w/sleeve 12mm id 32mm w 36 15

NAVARA D21 UTE 3/92 - 2/97, 4WD REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

NAVARA D22 UTE 2/97 - 10/01, 2WD FRONT SHOCK ABSORBER NNA-71010 337 251 10mm stud Bush eye w/sleev 12mm id 32mm wide 30 12.5

NAVARA D22 UTE 2/97 - 10/01, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

NAVARA D22 UTE 2/97 - 10/01, 4WD FRONT SHOCK ABSORBER NND-70010 310 217 10mm stud Bush eye w/sleeve 12mm id 32mm w 36 15

NAVARA D22 UTE 2/97 - 10/01, 4WD REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

NAVARA D22 UTE 10/01-, 4WD FRONT SHOCK ABSORBER NND-70010 310 217 10mm stud Bush eye w/sleeve 12mm id 32mm w 36 15

NAVARA D22 UTE 10/01-, 4WD REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

NAVARA D40M UTE 5/05 - EURO TYPE VIN# 
WILL START  WITH 'V', 4WD

FRONT STRUT NNF-72010 387 286 12mm stud Bush eye w/sleeve 14mm id 41mm w 36 18

NAVARA D40M UTE 5/05 - EURO TYPE VIN# 
WILL START  WITH 'V', 4WD

REAR SHOCK ABSORBER NNF-70020 588 356 Bush eye 16mm id 37mm w Bush eye w/sleeve 14mm id 41mm w 36 15

NAVARA D40T UTE 3/08 - THAI TYPE VIN# 
WILL START WITH  'M', 4WD

FRONT STRUT NNF-72010 387 286 12mm stud Bush eye w/sleeve 14mm id 41mm w 36 18

NAVARA D40T UTE 3/08 - THAI TYPE VIN# 
WILL START WITH  'M', 4WD

REAR SHOCK ABSORBER NNF-70020 588 356 Bush eye 16mm id 37mm w Bush eye w/sleeve 14mm id 41mm w 36 15

PATHFINDER D21 WAGON 8/86 - 7/95 FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

PATHFINDER D21 WAGON 8/86 - 7/95 REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

PATROL MQ / MK / G160 PATROL 6/80-8/87, 
SUITS ALL BODIES

STEERING DAMPER NGQ-73012 541 251

PATROL GQ / Y60 CAB CHASSIS/UTE 8/87 - 
10/97 WITH FRONT AND REAR LEAF SPRINGS

FRONT SHOCK ABSORBER TLE-70020 536 332 10mm stud Bush eye 19mm id comp fit 36 15

PATROL GQ / Y60 WAGON 8/87 - 10/97 FRONT SHOCK ABSORBER TLB-70011 512 315 14mm stud 14mm stud 36 15

NISSAN



9

MAKE/MODEL DESCRIPTION PART No#
Ext
Length
± 3mm

Cwomp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

NISSAN

PATROL GQ / Y60 CAB CHASSIS
8/87 - 10/97 WITH REAR LEAF SPRINGS

REAR SHOCK ABSORBER NGQ-70020 638 385 Bush eye 19mm id comp fit 10mm stud 36 15

PATROL GQ / Y60 WAGON
8/87 - 10/97

REAR SHOCK ABSORBER TLB-70022 655 400 Bush eye 18.5mm id comp fit Bush eye 18.5mm id comp fit 36 15

PATROL GQ / Y60 WAGON SWB & LWB
8/87 - 8/89 

STEERING DAMPER NGQ-73010 577 251

PATROL GQ / Y60 WAGON SWB & LWB
8/89 - 10/97

STEERING DAMPER NGQ-73011 487 251

PATROL GQ / Y60 CAB CHASSIS/UTE 8/87 - 
10/97 WITH FRONT AND REAR LEAF SPRINGS

STEERING DAMPER NGQ-73012 541 251

PATROL GU SERIES 10/97 -
SUITS ALL BODIES

FRONT SHOCK ABSORBER TLB-70011 512 315 14mm stud 14mm stud 36 15

PATROL GU SERIES CAB CHASSIS/UTE 10/97 - 
WITH REAR LEAF SPRINGS

REAR SHOCK ABSORBER NGQ-70020 638 385 Bush eye 19mm id comp fit 10mm stud 36 15

PATROL GU SERIES 10/97 - WITH FRONT AND 
REAR COIL SPRINGS, SUITS ALL BODIES

REAR SHOCK ABSORBER TLB-70022 655 400 Bush eye 18.5mm id comp fit Bush eye 18.5mm id comp fit 36 15

PATROL GU SERIES WAGON 10/97 -3/00
CAB CHASSIS/UTE 12/98 - 

STEERING DAMPER NGR-73010 525 251

PATROL GU SERIES WAGON 3/00 - STEERING DAMPER NGR-73011 550 251

TERRANO WAGON R20 11/96 - 10/99 FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud Bush eye 12mm id 32mm w w/2 x 3mm washers 36 15

TERRANO WAGON R20 11/96 - 10/99 REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

NISSAN



10

MAKE/MODEL DESCRIPTION PART NUMBER
Ext
Length
± 3mm

Cwomp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

TOYOTA

4 RUNNER & SURF LN/RN/YN/VZV130 10/89 - 9/91 
WITH INDEPENDENT FRONT SUSPENSION 

FRONT SHOCK ABSORBER TIH-70011 369 247 10mm stud Bush eye w/sleeve 16mm id 38mm w 36 15

4 RUNNER & SURF LN/RN/YN/VZV130 10/89 - 9/91 REAR SHOCK ABSORBER TLB-70010 578 350 10mm stud Bush eye 19mm id comp fit 36 15

4 RUNNER & SURF LN/RN/YN/VZV130 10/89 - 9/91 STEERING DAMPER TIH-73010 613 251

4 RUNNER & SURF LN/RN/YN/VZV130 10/91 - 8/97 
WITH INDEPENDENT FRONT SUSPENSION

FRONT SHOCK ABSORBER TIH-70011 369 247 10mm stud Bush eye w/sleeve 16mm id 38mm w 36 15

4 RUNNER & SURF LN/RN/YN/VZV130 10/91 - 8/97 REAR SHOCK ABSORBER TLB-70010 578 350 10mm stud Bush eye 19mm id comp fit 36 15

4 RUNNER & SURF LN/RN/YN/VZV130 10/91 - 8/97 STEERING DAMPER TIH-73010 613 251

HIACE RZH / LH10# VAN 8/89 - 1/05 (LIGHT DUTY) FRONT SHOCK ABSORBER THC-71010 379 251 10mm stud Bush eye w/sleeve12mm id 32mm wide 25 12.5

HIACE RZH / LH10# VAN 8/89 - 1/05 (HEAVY DUTY) FRONT SHOCK ABSORBER MBT-70010 383 249 10mm stud
Bush eye 12mm id 32mm w w/2 x 3mm 
washers

36 15

HIACE RZH / LH10# VAN 8/89 - 1/05 REAR SHOCK ABSORBER THC-71020 510 251 Bush eye w/sleeve 12mm id 38mm wide Bush eye  19mm id 42mm wide 30 12.5

HIACE TRH / KDH / LWB / SLWB 20#/22# VAN 1/05 - FRONT SHOCK ABSORBER THC-71010 379 251 10mm stud Bush eye w/sleeve12mm id 32mm wide 25 12.5

HIACE TRH / KDH / LWB / SLWB 20#/22# VAN 1/05 - REAR SHOCK ABSORBER THD-71020 564 346 Bush eye 16mm id 37mm w Bush eye 19mm id 42mm w 30 12.5

HIACE SBV VAN 8/95 - 11/03 FRONT SHOCK ABSORBER THC-71010 379 251 10mm stud Bush eye w/sleeve12mm id 32mm wide 25 12.5

HIACE SBV VAN 8/95 - 11/03 REAR SHOCK ABSORBER THE-71020 328 251 Bush eye19mm id 42mm wide 12mm stud 30 12.5

HILUX RN/YN/LN 3#/4# UTE 10/78 - 10/83, 4WD REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

HILUX RN/YN/LN 3#/4# UTE 10/78 - 10/83
WITH SOLID FRONT AXLE, 4WD

STEERING DAMPER TIH-73011 540 251

HILUX RN/YN/LN 5#/6# UTE 11/83 - 9/88, 2WD FRONT SHOCK ABSORBER CTC-71010 355 237 10mm stud T bar bushed mount 30 12.5

HILUX RN/YN/LN 5#/6# UTE 11/83 - 9/88, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

TOYOTA



11

MAKE/MODEL DESCRIPTION PART No#
Ext
Length
± 3mm

Cwomp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

TOYOTA

HILUX RN/YN/LN 5#/6# UTE 11/83 - 9/88
WITH SOLID FRONT AXLE, 4WD

FRONT SHOCK ABSORBER TIH-70010 485 301 10mm stud Bush eye 12mm id 32mm w 36 15

HILUX RN/YN/LN 5#/6# UTE 11/83 - 9/88
WITH SOLID FRONT AXLE, 4WD

STEERING DAMPER TIH-73011 540 251

HILUX RN/YN/LN 5#/6# UTE 11/83 - 9/88
WITH SOLID FRONT AXLE, 4WD

FRONT SHOCK ABSORBER CTC-71010 355 237 10mm stud T bar bushed mount 30 12.5

HILUX RN/YN/LN 5#/6# UTE 11/83 - 9/88
WITH SOLID FRONT AXLE, 4WD

REAR SHOCK ABSORBER TLB-70021 591 363 Bush eye 19mm id comp fit Bush eye 19mm id comp fit 36 15

HILUX RN/YN/LN 5#/6# UTE 11/83 - 9/88
WITH SOLID FRONT AXLE, 4WD

STEERING DAMPER TIH-73011 540 251

HILUX RN/YN/LN 8#/9# UTE 10/88 - 9/97, 2WD FRONT SHOCK ABSORBER CTC-71010 355 237 10mm stud T bar bushed mount 30 12.5

HILUX RN/YN/LN 8#/9# UTE 10/88 - 9/97, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

HILUX RN/YN/LN 10#/11# UTE 10/88 - 9/97
WITH SOLID FRONT AXLE, 4WD

FRONT SHOCK ABSORBER TIH-70010 485 301 10mm stud Bush eye 12mm id 32mm w 36 15

HILUX RN/YN/LN 10#/11# UTE 10/88 - 9/97
WITH INDEPENDENT FRONT SUSPENSION, 4WD

FRONT SHOCK ABSORBER TIH-70011 369 247 10mm stud Bush eye w/sleeve 16mm id 38mm w 36 15

HILUX RN/YN/LN 10#/11# UTE 10/88 - 9/97
WITH SOLID FRONT AXLE, 4WD

REAR SHOCK ABSORBER TLB-70021 591 363 Bush eye 19mm id comp fit Bush eye 19mm id comp fit 36 15

HILUX RN/YN/LN 10#/11# UTE 10/88 - 9/97
WITH INDEPENDENT FRON SUSPENSION, 4WD

REAR SHOCK ABSORBER TLB-70020 629 387 Bush eye 19mm id comp fit Bush eye 19mm id comp fit 36 15

HILUX RN/YN/LN 10#/11# UTE 10/88 - 9/97
WITH SOLID FRONT AXLE, 4WD

STEERING DAMPER TIH-73011 540 251

HILUX RN/YN/LN 10#/11# UTE 10/88 - 9/97
WITH INDEPENDENT FRONT SUSPENSION, 4WD

STEERING DAMPER TIH-73010 613 251

HILUX RZN/LN 14#/15# UTE 10/97 - 10/01, 2WD FRONT SHOCK ABSORBER CTC-71010 355 237 10mm stud T bar bushed mount 30 12.5

HILUX RZN/LN 14#/15# UTE 10/97 - 10/01, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

HILUX RZN/LN 16#/17# UTE 10/97 - 10/01
WITH INDEPENDENT FRONT SUSPENSION, 4WD

FRONT SHOCK ABSORBER TIH-70011 369 247 10mm stud Bush eye w/sleeve 16mm id 38mm w 36 15

HILUX RZN/LN 16#/17# UTE 10/97 - 10/01
WITH INDEPENDENT FRONT SUSPENSION, 4WD

REAR SHOCK ABSORBER TLB-70020 629 387 Bush eye 19mm id comp fit Bush eye 19mm id comp fit 36 15

toyota



12

MAKE/MODEL DESCRIPTION PART NUMBER
Ext
Length
± 3mm

Cwomp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

TOYOTA

HILUX RZN/LN 16#/17# UTE 10/97 - 10/01
WITH INDEPENDENT FRONT SUSPENSION, 4WD

STEERING DAMPER TIH-73010 613 251

HILUX RZN/LN 14#/15# UTE 11/01 - 2/05, 2WD FRONT SHOCK ABSORBER CTC-71010 355 237 10mm stud T bar bushed mount 30 12.5

HILUX RZN/LN 14#/15# UTE 11/01 - 2/05, 2WD REAR SHOCK ABSORBER CTC-71020 575 355 Bush eye w/sleeve 12mm id 37mm w Bush eye 16mm id 37mm w 30 12.5

HILUX RZN/LN/VZN/KZN 16#/17# UTE 11/01 - 2/05 
WITH INDEPENDENT FRONT SUSPENSION, 4WD

FRONT SHOCK ABSORBER TIH-70011 369 247 10mm stud Bush eye w/sleeve 16mm id 38mm w 36 15

HILUX RZN/LN/VZN/KZN 16#/17# UTE 11/01 - 2/05 
WITH INDEPENDENT FRONT SUSPENSION, 4WD

REAR SHOCK ABSORBER TLB-70020 629 387 Bush eye 19mm id comp fit Bush eye 19mm id comp fit 36 15

HILUX RZN/LN/VZN/KZN 16#/17# UTE 11/01 - 2/05 
WITH INDEPENDENT FRONT SUSPENSION, 4WD

STEERING DAMPER TIH-73010 613 251

HILUX, GGN15/GGN25/KUN26/KUN16/TGN16 
UTE/XTRA CAB/DUAL CAB/TRD 2/05 - 5/11, 2WD

FRONT STRUT
LEFT HAND SIDE

TIM-72031LH 477 251 12mm stud Bush eye w/sleeve 14mm id 39mm wide 30 12.5

HILUX, GGN15/GGN25/KUN26/KUN16/TGN16 
UTE/XTRA CAB/DUAL CAB/TRD 2/05 - 5/11, 2WD

FRONT STRUT
RIGHT HAND SIDE

TIM-72031RH 477 251 12mm stud Bush eye w/sleeve 14mm id 39mm wide 30 12.5

HILUX, GGN15/GGN25/KUN26/KUN16/TGN16 
UTE/XTRA CAB/DUAL CAB/TRD 2/05 - 5/11, 4WD

FRONT STRUT TIM-72010 542 409 12mm stud Bush eye w/sleeve 14mm id 41mm w 36 18

HILUX, GGN15/GGN25/KUN26/KUN16/TGN16 
UTE/XTRA CAB/DUAL CAB/TRD 2/05 - 5/11, 2WD

REAR SHOCK ABSORBER TIM-71020 578 355 Bush eye 19mm id comp fit Bush eye 19mm id comp fit 30 12.5

HILUX, GGN15/GGN25/KUN26/KUN16/TGN16 
UTE/XTRA CAB/DUAL CAB/TRD 2/05 - 5/11, 4WD

REAR SHOCK ABSORBER TLB-70021 591 363 Bush eye 19mm id comp fit Bush eye 19mm id comp fit 36 15

LANDCRUISER 40 SERIES UTE / TROOP CARRIER FJ/HJ/BJ 
1960-11/84

FRONT SHOCK ABSORBER TL-70010 483 307 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

LANDCRUISER 40 SERIES UTE / TROOP CARRIER FJ/HJ/BJ 
1960-11/84

STEERING DAMPER TL-73010 458 251

LANDCRUISER 60 SERIES WAGON   8/80 - 1/90 FRONT SHOCK ABSORBER TLB-70010 578 350 10mm stud Bush eye 19mm id comp fit 36 15

LANDCRUISER 60 SERIES WAGON   8/80 - 1/90 REAR SHOCK ABSORBER NNA-70020 586 356 Bush eye 16mm id 37mm w Bush eye 16mm id 37mm w 36 15

LANDCRUISER 60 SERIES WAGON   8/80 - 1/90 STEERING DAMPER TLB-73010 648 251

LANDCRUISER BUNDERA HZJ/PZJ70/73, BJ/FJ70/73/74 
11/84 - 8/99 

REAR SHOCK ABSORBER TLB-70021 591 363 Bush eye 19mm id comp fit Bush eye 19mm id comp fit 36 15

TOYOTA



13

MAKE/MODEL DESCRIPTION PART No#
Ext
Length
± 3mm

Cwomp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

TOYOTA

LANDCRUISER BUNDERA LJ/RJ7# 11/84 - 8/99  REAR SHOCK ABSORBER TIH-70010 485 301 10mm stud Bush eye 12mm id 32mm w 36 15

LANDCRUISER 70 SERIES UTE/TROOP CARRIER
11/84 - 1/07

TIE ROD END KIT(4PC) TLB-70000 N/A N/A N/A N/A N/A N/A

LANDCRUISER 70 SERIES UTE/TROOP CARRIER
(EXCLUDES BUNDERA) 11/84 - 8/99

FRONT SHOCK ABSORBER TLB-70010 578 350 10mm stud Bush eye 19mm id comp fit 36 15

LANDCRUISER 70 SERIES UTE/TROOP CARRIER
11/84 - 8/99 (EXCLUDES BUNDERA)

REAR SHOCK ABSORBER TLB-70020 629 387 Bush eye 19mm id comp fit Bush eye 19mm id comp fit 36 15

LANDCRUISER 70 SERIES UTE/TROOP CARRIER
8/99 - 1/07

FRONT SHOCK ABSORBER TLB-70011 512 315 14mm stud 14mm stud 36 15

LANDCRUISER 70 SERIES UTE/TROOP CARRIER
8/99 - 1/07

REAR SHOCK ABSORBER TLB-70022 655 400 Bush eye 18.5mm id comp fit Bush eye 18.5mm id comp fit 36 15

LANDCRUISER 70 SERIES UTE/TROOP CARRIER 
11/84 - 1/07

STEERING DAMPER TLB-73010 648 251

LANDCRUISER 7# SERIES UTE/TROOP CARRIER & 
WAGON  4/07 -

FRONT SHOCK ABSORBER TLB-70011 512 315 14mm stud 14mm stud 36 15

LANDCRUISER 7# SERIES UTE/TROOP CARRIER & 
WAGON  4/07 -

REAR SHOCK ABSORBER TLB-70022 655 400 Bush eye 18.5mm id comp fit Bush eye 18.5mm id comp fit 36 15

LANDCRUISER 7# SERIES UTE/TROOP CARRIER & 
WAGON  4/07 -

STEERING DAMPER TLG-73010 748 251

LANDCRUISER 80 SERIES WAGON 1/90 - 1/98 FRONT SHOCK ABSORBER TLC-70010 616 367 14mm stud 14mm stud 36 15

LANDCRUISER 80 SERIES WAGON 1/90 - 1/98 REAR SHOCK ABSORBER TLC-70020 619 374 14mm stud Bush eye 19mm id comp fit 36 15

LANDCRUISER 80 SERIES WAGON 1/90 - 1/98
WITH SOLID FRONT AXLE

STEERING DAMPER TLB-73010 648 251

LANDCRUISER 100 SERIES WAGON 1/98 - 7/07 
WITH SOLID FRONT AXLE

FRONT SHOCK ABSORBER TLC-70010 616 367 14mm stud 14mm stud 36 15

LANDCRUISER 100 SERIES WAGON 1/98 - 7/07 
WITH INDEPENDENT FRONT SUSPENSION

FRONT SHOCK ABSORBER TLF-70010 443 291 17mm stud Bush eye w/sleeve 14mm id 40mm w 36 15

LANDCRUISER 100 SERIES WAGON 1/98 - 7/07 
WITH SOLID FRONT AXLE

REAR SHOCK ABSORBER TLC-70020 619 374 14mm stud Bush eye 19mm id comp fit 36 15

toyota



14

MAKE/MODEL DESCRIPTION PART No#
Ext
Length
± 3mm

Cwomp
Length
± 3mm

Top mount Bottom mount
Piston
Dia
(mm)

Shaft
Dia
(mm)

TOYOTA

LANDCRUISER 100 SERIES WAGON 1/98 - 7/07 
WITH INDEPENDENT FRONT SUSPENSION

REAR SHOCK ABSORBER TLF-70020 616 368 17mm stud 36 15

LANDCRUISER 100 SERIES WAGON 1/98 - 7/07 
WITH SOLID FRONT AXLE

STEERING DAMPER TLB-73010 648 251

LANDCRUISER 200 SERIES WAGON 8/07 - FRONT STRUT TLJ-72010 591 425 18mm stud Bush eye w/sleeve 16.5mm id 40mm w 36 18

LANDCRUISER 200 SERIES WAGON 8/07 - REAR SHOCK ABSORBER TLF-70020 616 368 17mm stud 36 15

LANDCRUISER PRADO 120 WAGON 9/02 - 7/09 FRONT STRUT TIM-72010 542 409 12mm stud Bush eye w/sleeve 14mm id 41mm w 36 18

LANDCRUISER PRADO 120 WAGON 9/02 - 7/09 REAR SHOCK ABSORBER TLC-70020 619 374 14mm stud 36 15

LANDCRUISER PRADO 95 WAGON 4/96 - 9/02 FRONT STRUT TLE-72010 462 251 12mm stud Bush eye w/sleeve 14mm id 40mm wide 36 18

LANDCRUISER PRADO 95 WAGON 4/96 - 9/02 REAR SHOCK ABSORBER TLE-70020 536 332 10mm stud 36 15

LANDCRUISER PRADO 95 WAGON 4/96 - 9/02 REAR SHOCK ABSORBER TLE-70020 536 332 10mm stud 36 15

TOYOTA

Disclaimer and reservation of rights  
© 2016 Auto Parts Group Pty Ltd is the owner of the copyright in this item. All rights reserved. No part of this work (including photos) may be reproduced or copied without the written permission of Auto Parts Group Pty Ltd. To the extent permissible at law, Auto Parts 
Group Pty Ltd is not liable to any person for loss or damage arising from reliance upon information contained herein. Parts are not genuine (unless specifically stated) and manufacturer references are for application purposes only. Only part numbers ending in ‘G’ are 
genuine parts. Auto Parts Group is not sponsored, approved, affiliated or otherwise associated with any genuine or original parts manufacturer, distributor or dealer. The statutory warranties/consumer guarantees under the Australian Consumer Laws and any other 
contractual warranties against defects are provided by Auto Parts Group only. Photos are for identification purposes only.



BRISBANE
72 Pritchard Road, Virginia, QLD, 4014
T: 07 3865 2599 F: 07 3865 3900
E: sales@autopartsgroup.com.au

TOWNSVILLE
T: 07 4426 1010 F: 07 4422 0347
E: salestsv@autopartsgroup.com.au

CANBERRA
T: 02 6185 3300 F:02 6185 0331
E: salesact@autopartsgroup.com.au

NEWCASTLE
T: 02 4038 1407 F: 02 4040 9756
E: salesntl@autopartsgroup.com.au

WOLLONGONG
T: 02 4207 3300 F:02 4210 8775
E: saleswol@autopartsgroup.com.au

PERTH
T: 08 6500 0109 F: 08 6131 2949
E: salesperth@autopartsgroup.com.au

SYDNEY
2/338 Woodpark Road, Smithfield, NSW, 2164
T: 02 8785 4599 F: 02 9729 1188
E: salessyd@autopartsgroup.com.au

MELBOURNE
32-38 Winterton Road, Clayton, VIC, 3168
T: 03 9548 7109 F: 03 9548 7378
E: salesmelb@autopartsgroup.com.au

ADELAIDE
60 Grand Junction Rd, Kilburn, SA 5084
T: 08 8125 9000 F: 08 8125 9009
E: salesadel@autopartsgroup.com.au




